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תכונות  פונקצית  הקוסינוס
· נכיר  את  4  התכונות  של  הפונקציה  y = cos( 

1. cos( = -cos(1800 - ()

1. cos1200 = -cos(____ - 1200) = -cos_____

2. cos( = -cos(( - 1800)

2. cos2100 = -cos(____ - 1800) = -cos_____

3. cos( = cos(3600 - ()

3. cos3000 = cos(____ - 3000) = cos_____
4. במקום  cos(3600 - ()  ניתן  לכתוב  cos(-() .

4. ניתן  לנסח  את  החוק  השלישי  כך:  cos( = ______.
5. cos( = cos(3600 - ()

5. cos10000 = cos(____+ 3600.2) = cos_____
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· תשובות:  1. –cos600  2.  -cos300  3.  cos600  4.  cos(-()  5.  cos2800
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עבודה  נעימה











cos( = -cos(1800 - ()


cos( = -cos(( - 1800)


cos( = cos(3600 - ()    או  cos( = cos(-()  


cos( = cos(3600 - ()
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